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d2se vs p_: 2Repilde signal
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d2se vs p_: 2Repilde bkgd
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Wall: 2Repi
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Wall vs P, 2Repi signal
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Wall vs p,: 2Repi bkgd
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Wall: 2Repilde
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Wall vs P, 2Repilde signal
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Wall vs p,: 2Repilde bkgd
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ToWall: 2Repi e

3000

ToWall of e (cm)

$00009000000,/00000009

.I‘.

>0

@

_________________________|F|_.
— I.-I
-
- -
-
— e
- © >
- c =
|25 g
L 1Q rd
(7)) .
LR e
—-
L -
|.|.
.|.|
— .I-I
-
L -
I..I
.
— . I-I
I-I .
L .
|.|
I.I .
I.-I
L -
|.|
| I— . I-I
L -
I.l
|...|
— I..I
I-I .
L -
——
I'I
— I.I
——
|.|.
— I-I .
_——
——
e
— .I-l
L e =
——
| I— .|-|
——
L -
——
.
— . |-|
—— ®
L — ¢
|-|
— ®
- . —— 00
_____________I_.I._l___________
(o] o 1_
o o o

1000 1500 2000 2500

500



ToWall vs P, 2Repi e signal
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ToWall vs p_: 2Repi e bkgd
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ToWall: 2Repi pi
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ToWall vs P, 2Repi pi signal
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ToWall: 2Repilde e

0.45F e
. |l +bkgd | 3
- ~signal | 1
0.35 :—+ J =
0.3 | I =
- Ty =
0.2 +-| =
S /T AR -
0.15 wull 14T - =
F L TR -
T AR LT | -
0.1 RRIE % 1L INVAL™ L A ETAI 1 —
g UL L LT L
0.05— ' ' t +‘++".'-+'I'+++ R
ERannttinit, '."T“."T"l"f"."T".'.T"."f“.“f‘ﬂ“'.".“?w"#-mﬂuﬂj

0 500 1000 1500 2000 2500 3000

ToWall of e (cm)



ToWall vs P, 2Repilde e signal
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ToWall vs p,: 2Repilde e bkgd
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ToWall: 2Repilde pi
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ToWall vs P, 2Repilde pi signal
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ToWall vs p_: 2Repilde pi bkgd
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fgmrnll-fgmsnll: 2Repi
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fgmrnll-fgmsnll vs P 2Repi signal
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fgmrnll-fgmsnll vs p: 2Repi bkgd
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fgmrnll-fgmsnll: 2Repilde
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fgmrnll-fgmsnll vs P, 2Repilde signal
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fgmrnll-fgmsnll vs p,: 2Repilde bkgd
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cos0: 2Repi
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cosO: 2Repilde
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cosBvs E . 2Repi signal
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cosOvs E,..: 2Repilde signal
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cosbvs E,.: 2Repilde bkgd
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cosfvs p,: 2Repi signal
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cosOvs P, 2Repi bkgd
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cosBvs p_: 2Repilde signal

cosBO

0.5

1000

1500

2000 2500 3000 3500 4000
P, (MeV/c)

0.025

0.015

0.005

0



cosBvs p_: 2Repilde bkgd
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cosOvs p_: 2Repi signal
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cos6vs p_: 2Repi bkgd
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cosBvs p_: 2Repilde signal
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cosBvs p_: 2Repilde bkgd
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PP, 2Repl
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PP, VSP,: 2Repi signal
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PP VSp. 2Repi bkgd
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PP, 2Repilde
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PP, Vs p_: 2Repilde signal
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PP, Vs p : 2Repilde bkgd
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